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FRACTIONS...
Unit 70: Addi 19 and Subtrac If//(oq/ Fractions
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What do ([ veed s bo ble ts o7 1| Hagwords

By the end of this unit you should be able to: Numerator : the number above the line on a fraction. The top number.
+ Convert between mixed numbers and fractions | Represents how many parts are taken
» Add/Subtract unit fractions (same denominator) | Denominator: the number below the line on a fraction. The number

|
|
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+ Add/Subtract fractions from integers || Equivalent: of equal value |
|
|
|
|
|

* Add/Subtract fractions (same denominator) || represent the total number of parts
+ Use equivalent fractions || Mixed numbers: a number with an integer and a proper fraction
* Add/Subtract any fractions || Improper fractions: a fraction with a bigger numerator than denominator
» Add/Subtract improper fractions and mixed || Substitute: replace a variable with a numerical value
numbers || Place value: The value of a digit depending on its place in a number.
|; Use fractions in algebraic contexts || Each place is 10 times bigger than the place to its right |

| Kopresenting Fractions ,: | Mised ranbers wnd frastions /M(/f«/mt awnit fractions
| :| Dj]jjmj % Improper fraction Ill 11—2—%|H/|||||’||H=1
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4 I Same denominator
| is represented in |I 0 1 2 3 |: 11 M 2 :
I all the images |: 1_ Mixed number I| 212 H++ = N I
I . |I In this model5~ " L) 0 ! I
I |_ ! _|_|_| 1+4 I | parts make up Fractions can be [ | With the same denominator ONLY the |
: o 1 l| | a whole bigger than a whole I | numerator is added or subtracted |
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\ A Subtract fractions | A/ Sabtract from ilegere 1| ﬁa/méﬁﬁapﬁm’ |
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| S Same denominator Il M, , 3 6 :
| Sequences . 5 1 I , OO | | | =31 Il13=% | | |
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I I I
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| L2/ N 20,2 onanumber || number of parts a whole is made up of I Numerator an chominator
L ___3_3 _ _newohdp _ ol _ _ _ _ _ ___ _ _______ 1L __ haye the same multiplier _ __ _|
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:/fc/:{/fa/mﬁm fractions (common mabbjples) |' /M(/ﬁ/tmtm any fractions |
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| Addition/Subtraction needs a common denominator I| 4 2 OO TD — O] = 15 |
| - CCTTTTT T : 5 3 12 . 10 :
= + 4 [ T T T T 71 !‘ T T T 71 T T 11 I 15 15
: ( 5 10 ? | ‘ |: L J :
| 6 + 7 13 || Use equivalent fractions to find a common multiple for both |
| 10 ' 10 10 J|| denominators I
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| /M%S’a/mtm fractions (improper and mived) | Frastione i abpebrais conterts -5 m=2 |
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| T T T T T T T T T T T T T T T T T 7171 Form expressions with Substitution |
| 2— o' 1 2 fractions 5 1 |
b+1 b+2 —+=
I 13 9 » Convert to an improper fraction 9 8 2 I
| —= =— leul ith prop -—_————— - === === === ====
10 10 10 * Calculate with common
: denominator Fractions and decimale :
| Partitioning method Example 5 403 0.6 + 0.3 :
| T >
I 1 3 _ 52 3 _,52 3 _ .2 3 _ 9 ) Remember to use |
| %5~ lﬁ =25 1 0 T T 1- 10 1 10 10 10 6 3 equivalent fractions |
| 10 10 and common |
I denominators I




FRACTIONS...

What do / need to be able taém' /ﬁywa/%’

|I Numerator : the number above the line on a fraction. The top number.

By the end of this unit you should be |I Denominator: the number below the line on a fraction.

able to: |I Whole: a positive number including zero without any decimal or fractional parts.
|| Commutative: an operation is commutative if changing the order does not

» Carry out any multiplication or division |: Eha.‘{]?:e thtg re.sult]; " here th tor |
using fractions and integers. nit Fraction: a fraction where the numerator is one

. Solutions can be modelled. described I’ Non-unit Fraction: a fraction where the numerator is larger than one. D
’ ||

and reasoned Dividend : the amount you want to divide up.

I Divisor: the number that divides another number.

Il Quotient: the answer after we divide dividend+ divisor = quotient
ILReciprocal: a pair of numbers that multiply together to give L
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| Representing a fraction | /&p&ata{ addlition = wabliplication by an ixteger |
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l—Numer'ator Number of parts represerit[:d 4 X_ i i +i + i | Whenadding |
| Denominator  Nymerator | | 5 5 5 5 fractions with the |
| How many parts are shaded? | same denominator = |
| / ———— | | Integer | | | | | | What each part represents add the numerators |
: 3 [TTT 11 1| whole number TTT T 11 |

2
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Number of parts to make up | || represents B | | | | |

3 |
| the whole ¥ TIT1T1 1] 12 o1 |
| Denominator | | 5 oO—"1 2 |
lLAI;L EAET_S O_f a_frict_ion_ar_e 0_f eﬂuil Size_ | L Each whole is split into the same number of parts as the denominator |
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|Modell : ” . N \ i X 1_ |
| 3 Total number |l 4 3 Total number
| Zf parts in the I / \ Modelled: 3 of parts in the :
| iagram ¥ diagram |
: ‘_4';_, [ ‘ This many columns z'* |
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| Quick Muplpip nd Cuncellng doun || The recproced |
| 1 | | When you multiply a number by its reciprocal the answer is always 1 :
| 3 4 The 3 and the 9 have a common | | 3 1 1 Reci Is for divisi
| — X— tactor and can be simplified | > X 3 - ceiprocals 1or IVISIon Multiplying l
5 9 3 | | €8 -1 -2 by the |
| i ~a
1 i - |
| Quick Solving 1x4 4 [ _l-l-‘_ + _1 =1 + r:grgsl |
| Multiply the numerator. = — I3 3 3 5 X 4=9 ime |
|L Multiply the denominatorsd X 3 15 |t Thc reciprocal of 3 is =and vice versa outcome |

|

| | :
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: “There are 4 quarters\ || 2_ - i Represented |
| l in 1 whole. b 5 ° Multiplying 8 |
| .1 Therefore, thereare 20 / || by a reciprocal _ |
| 1 ——— =4 quarters in 5 wholes”>/ || 2 4 gives the same . |
| '—'4—' ; : : _5 X _3 outcome 15 :
| How many 5 + =+ =20 || |
: quarters are in 1? | | |



